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— ~ Give IUPAC names for the following compounds:

1. 2
CH3CH,CH,CHj @
3 4,
CH,CH; CH; CH;CH,CHC==CCH,CHj
CH;CH,CH,CHCH,CH,CHCH; CH,
S 6.
oo 0
CH;CH,CHCH,CH,CCH,CH,CHj CH3CHCCH,CH,CH3
CH; CHj
7. g
Cl 0O
| H CH;CH,CHCH,CH,CH,CO,H
HCCH,CH,CH,CH

| CH
CH;
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— ~Responses to the following problems:

1. Draw the five isomers of CgH ;4.
2. Draw the two chair conformations of menthol, and tell which is less stable.

CH;

Menthol

HO~
CH(CHjs),
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— ~ Finish the following reactions
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s
CH3
1. NaNH,
CH3;CHCH,CH,CH,CH,C = CH g
2. CH3CH)Cl
~_CHyCH,CH,CH,CH; 1. KMnOy4
2. H,O
10.
/O 1. CH3CH,CH,MgBr
2. H;0"
11.
CH;
| HI
CH; —C—0 —CH,CHjs =
CH,
12.
Cl‘03
CH;3CHCH,CH,CH,OH =
H3O+

CH,
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